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8 x 8 =| 64
72 +| 8 |= 9
8 x 2 =| 16
Eight times one equals

56
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Pirates hang out in teams of 8. Last week there were 96 pirates on Treasure Isiand. How many
teams were searching for the treasure?

96 +8=12

The pirate crew from the Jolly Parrot Pirate Ship are running out of food. They only have 64 ships
biscuits left until they find land. How many biscuits are there for each of the eight pirates?

64:8=8
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32 +| 4 |= 8

h 8 x| 3 |= 24

i

i

56 +| 7 |= 8

Twelve groups of eight equal

96

altogether.
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1 Can you see any patterns in the unit digits of the multiples of 82
Explain the pattern you found.

Within each block of five rows, the ones digit follows a very simple pattern: 8, 6, 4, 2, 0 and this repeats
over and over and over.

2. Can you see any patterns in the tens digits of the multiples of 87
Explain the pattern you found

Up to five, eight times something starts with one less than the something. Eight times 1 starts with 0,
eight times 2 starts with 1, eight times 3 starts with 2, eight times 4 starts with 3, and eight times 5
starts with 4. For numbers in the range 6 to 10, eight times the number starts with two less than the
number. Eight times 6 starts with 4, eight times 7 starts with 5, eight times 8 starts with 6, eight times
9 starts with 7, and eight times 10 starts with 8. The next block of 5 rows has, again, a similar pattern.
Eight times 11 starts with 8, eight times 12 starts with 9, eight times 13 starts with 10, eight times 14
starts with 11, and eight times 15 starts with 12.

3. If you continue the 8 times table p to 20 x 8 does the pattern continue?

Yes is does, in blocks of 5.




